0

1,00;b = 1,00

c
8
=
I
£
=
S
=
0
=
IS
=
2
5
()
£
=
K=}
S}
O

=ct =ac®witha

c*




Colorimetric transformation i =0
=ct =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




Colorimetric transformation i =0
=ct =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o

8'375
e 0.25
25 025 0
8'@5 0125 %0
00 00
0.0

0.5
0.25




Colorimetric transformation i =0
=ct =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




0

1,00;b = 1,00

c
8
=
I
£
=
S
=
0
=
IS
=
2
5
()
£
=
K=}
S}
O

=ct =ac®witha

c*




Colorimetric transformation i =0
=ct =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o

1.0
0.875
0.75 10




Colorimetric transformation i =0

¢t =c¢ =ac*® with a=1,00;b = 1,00

ram '9b —> olv* ram OlV*—> olv*o

.0

.0 .
1.0 1.0

T T

0.625 I 0.625 0
0.75 078 0.5 " 0.75 098 0.5




0

1,00;b = 1,00

c
8
=
I
£
=
S
=
0
=
IS
=
2
5
()
£
=
K=}
S}
O

=ct =ac®witha

c*




0

1,00;b = 1,00

c
8
=
I
£
=
S
=
0
=
IS
=
2
5
()
£
=
K=}
S}
O

=ct =ac®witha

c*




Colorimetric transformation i =0
¢t =c¢ =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




Colorimetric transformation i =0
=ct =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




Colorimetric transformation i =0
¢t =c¢ =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




Colorimetric transformation i =0
cr =ct =ac*® with a=1,00;b=1,00
rgb —> olv* ram OlV*—> olv*o




Colorimetric transformation i =0
¢t =c¢ =ac*® with a=1,00;b = 1,00
rgb —> olv* ram OlV*—> olv*o




0

1,00;b = 1,00

c
8
=
I
£
=
S
=
0
=
IS
=
2
5
()
£
=
K=}
S}
O

=ct =ac®witha

c*




Colorimetric transformation i =0
¢t =c¢ =ac*® with a=1,00;b = 1,00

rgb —> olv*

L

0.7
0.0
0.375

055 0375 05
0.25
025 0.2 025
0.125




